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o IEFRsEE  WKZ-X 20 - 525 (—#%) o ERAWE T-6
o HI o <tk 200 x L x25 o EFEIR 100 mm
o FRAMAE 1B o X724 13— WXI-25x5x3. 5
TFEEE
o fiIE & NTYL N~
+ 1% W — i o T P = 24 kN -EvF Pe= 33 mm
- EHEEZRE i = 04 - BT R Z = 381 mt
-EEEEELZWE P, = 33.6 kN
- B mEE axb =200 mm x 240 mm
- R FERE R Q= 150 mm
s RF7YUGNR—FAFKER & = 200 mm
MOE R EHE
RTFYDGN——REBHMHR L LTHET B,
=NV | op, = 0.180 kN/mm’
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 Pi xPy
W= axb
33.6 x 33 _
W —200—)(240— 0.023 kN/mm
M=LXWX Qr x (22 — 21 ) (0> 08 0,=20)

co

%x0.023 % 150 x ( 2 x 150 — 150 )

65.0 kN-mm

o =%=%t_ 0.17 kN/mm2=ob
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e IEFEES  WKZ-X 20 - 525 (z3/3%-) o ERAWE T-25
o HI o <tk 200 x L x25 o EFEIR 100 mm
o FRAMAE EETER o X714 /13- WX1-25x5x3. 5
H- -3
o fiIE & NTYL N~
+ 1% W — i o T P = 100 kN -EvF Pe= 33 mm
- BEERHK i = 0.4 -WEFRHE Z = 381
-EEEEELZWE P, = 140.0 kN
- B mEE axb=200 mm x 500 mm
- R FERE R Q= 100 mm
s RFYVGN—AARERE &4 = 200 mm
MR E
RTFYDGN——REBHMHR L LTHET B,
- AN op = 0.180 K N/mm?
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 PixPy
¥ = axb
1400 x 33 _
W = gg5—= 0.046 KN/m
" :%XW x 0 x (20 — 01 ) (0,>00 0,=0)
:%x0.046 x 100 x (2 x 100 — 100 )
= 57.8 kN-mm
® il jj: (0]
M 57.8
———— = <
o = e = 015 kN/m2=ob
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